. Explain sp and sp?-hybrid orbitals.

sp Ua sp?-Tha Hefhl HI AT |

. Derive equation for different energy of levels for a
rigid rotator.

33 oA & fou fafr= oo w1 & foag aeier o=
AT |

. Explain the Raman spectra of pure rotational and
pure vibrational diatomic molecule.

fgmfoas o1 & foru ¥ PoiF T I FFF & TH
A R TR

. Explain the following rules of photochemistry :
(@) Grothus-Drapper law

(b) Stark-Einstein law

THR-WEE & fau = fee s aveme
(37) MIF-grR F2m

(3) wWeh-3mEeE o

. Explain the following points :

(@) Nernst distribution law

(b) Law of osmotic pressure

Frafafea faget =1 awemT .

(37) TR foreor frem

(&) wE g =
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given

instructions.

fE9r - T8 yvA-u3 ‘o1’ iR ‘e’ 1 wuel | fawifea ®1 Tow

g & EYER woe & W e

Section—A 4x1%,=7

(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one

sentence or maximum up to 30 words. Each

question carries 1% marks.
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qug—H
(3tfa &g ST u9)
feor:- fo=l 9R 9ol & S SIfSul 39 S99 IR HI
YAER Uk I, Uh o a1 Afgshan 30 st #
TfEifqa wINT ) g&% 9 1% 31 H R
1. (1) What is Heisenberg uncertainty principle ?
BIgorert sAffyeaar =1 fagra =1 8§ ?
(ii)) How we can from MQO’s (Molecular Orbital)
from AO’s (Atomic Orbitals) ?
T e YR ¥ THIvas Hefhi W Tfvasd Herh
I THA T ?
(ii1) Define the degree of freedom.
A i HIfE T GHARE
(iv) Write down two differences between atomic
orbitals and molecular orbitals.
AU Heehi T Tvash Fweeh! H &l 3T<R
farfem |
(v) Explain the isotope effect.
qAEfR Y9 hl HHEET |
(vi) Write down difference between thermal and
photochemical processes.
AT T FHRI-TEE e ThH H o= fafay
CH-11/4 (2) T-542
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(vii) Explain the concept of dipole moment by
taking suitable example.

T5Ya STEUT T STAYURON Tl IZTE0T Fed FHEST |
(viii) Explain Raoult’s law.

TR & 99 & 9uemsu |

Section-B 4x7=28

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

gue—d
(g ST q99)

o - fo=l = 9w & S AfSul 39 etue ST I
Afreray 200 I8l H OREfIG wifSwl Tde 99

7 3% HT B

. What is Bohr’s Model ? Write down its defects.

S YET 1§ ? TER] wiHal fefen |

. Write down the postulates of quantum mechanics.

FAUeH AfAERT H ANFET w1 fafew|

. Construct the MO’s of Hj ion by LCAO (Linear

Combination of Atomic Orbitals).

LCAO (wHifUaeh ehemehi & @@ €4) g0 Hj
A7 & MO’s =l SHET
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